esdfaeﬁé a;mrizS

€9, 23&%?’\)@%3 @0)0. (Fill in the blanks)

0. A, DI DBLS 2008 3D 3ed.

9. BB T* I Aod Sreadndd.

Q. IOBD 3H o0 BDWIBENT eed TR3DST.
2. ey DA 303 DBanEQeTe?

€. 85 JIBNTYY D NS ©0BNFRY MDY JODER TAO.

(Identify the incorrect word and correct it)

0. e mﬁ o8 e eT wed FO1 wohe).

9. DI DWOT ToTFRNB S AT,

8. A, e TeAATVTP 2%,0 BHTTSY.

. dsm@( 28 zéag(

Q. B8 FJ NI 2.0 m%d@m VBT WTAO. (Answer the following

in one sentence)

0. DI oD 23T08 HENZ?

9. HOVS O T3 Tog, O, FeIATR?

8. 03500 @l Jeed) woddR)?

¥. 0% wHDY ST0E3 308 SAI, & 33 WeTW?



83. oBO000B BB WBETANAD. (Write the negative form. Refer to

the model given)
0. 3003 - 30DV
. Jeelq -

8. @eeNT -

¥. 20003 —

. BO0DH03B BT WBTAVRD. (Change the word as given in the

model)

0. Bpied - Bpdh3ed
9. DB —

8. B3 -

v. BROTRLDY) -

8. 3, 39% -



